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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
4 3 0,9 10C3 62 0,6 2 18 18 210 2 CPB 22 He BusiBneno
4 4 1,2 : 10C3 62 0,6 2 18 20 210 2 CPB o 20 He Bussieno
4 8 0,1 - 10C3 62 0,4 2 18 20 140 2 CPB 3 28 He BusiBneno
8 10 2,4 10C3 62 | 0,65 1 22 26 305 2 CPB é 20 He BusiBsicHo
8 12 3.1 10C3 62 | 0,65 1 23 26 335 2 CPB 2 20 He Buspnieno
8 11 0,9 10C3-+bn+]13 63 | 0,45 1 21 24 195 2 CPB § 20 He BusaBieHo
12 10 0,5 10C3+Knc 75 0,6 1 24 28 310 2 CPB 2 20 He BusBneno
12 14 0,5 8C3(80)2C3(60)+Knc 80 | 0,55 2 23 32 260 2 CPB § = 20 He susizneno
2 12 16 0,2 10C3 50 { 0,5 2 17 18 160 2 CPB E E 20 He BussneHo
) 15 10 0,5 10C3 69 0,6 1 23 28 290 2 CPB g .E( 20 He BussnieHo
N 19 15 3,7 10C3 69 0,7 1 24 26 370 2 CPB 2 5 20 He BusiBjieHo
19 16 8,1 i 10C3 70 | 0,65 1 24 26 355 2 CPB E 20 He Busisneno
19 18 0,4 10C3 75 | 0,65 1 24 26 340 2 CPB § 20 He BusaBneHo
23 8 1,0 10C3+bn 61 | 0,65 la 23 26 325 2 CPB a 20 He BussicHo
23 10 39 9C3(185)1C3(80)+Cs(45)+Knc+Jnn 185 | 0,25 3 25 56 115 2 CPB E 20 He sussneno
23 16 2,6 10C3 75 10,65 1 25 30 360%| 2 CPB >;é 20 He BusBncHO
27 17 5,1 10C3 75 0,7 1 24 28 360 2 CPB 2 20 He BusiBaeHo
27 18 0,8 10C3 74 | 0,45 1 23 30 230 2 CPB 20 He sussneHo
27 19 0,5 10C3 61 0,5 1 20 22 210 2 CPB 20 He BusBiicHo




e 27 20 3 10C3(75)+C3(125) 75 0,5 1 25 30 275 2 CPB 20 He BusBnieno
- 31 18 1,9 6C3(85)4C3(65) 85 | 0,45 1 26 28 235 2 CPB % 20 He Bussnieno
31 19 1,2 10C3 105 { 0,6 2 27 36 370 2 CPB § § 20 He Bussieno
31 23 0,5 10C3 85 | 0,65 1 26 30 380 2 CPB 5 3 @ 20 He susisyieno
2 31 26 2,8 7C3(85)3C3(70) 85 10,55 1 26 32 320 2 CPB | £ 8 & 20 He BusBsieHo
Z 31 27 0,9 8C3(64)2C3(79) 64 | 0,65 2 19 24 270 2 cPB| 26 = 20 He BusiBiieHO
= 31 31 1,9 10C3 95 1045 2 25 32 250 2 CPB E g? 5 20 He BusBsieHO
31 32 0,5 8C32bn 43 0,4 2 15 16 105 2 CPB | & “é 8 He BusBicHo
31 34 0,9 10C3(90)+C3(40) 90 | 0,45 1 26 36 245 2 CPB | & Z 20 He BusBnieno
31 22 1,4 5C3(95)5C3(65) 95 | 0,6 2 24 36 280 2 CPB = 20 He BuaBsieHO
31 29 0,9 7C3(56)3C3(96) 56 | 0,55 2 18 20 225 2 CPB 20 He BusaBneHo
Pa3zom no launomy J-By
52,3
8 1 1.4 10C3 86 | 0,55 2 22 28 250 2 CPB 7 He BusBneHo
8 3 1,8 10C3 86 0,6 3 20 26 215 2 CPB 7 He BuasneHo
8 4 2,0 10C3 86 0,6 2 24 30 315 2 CPB 7 He Bussneno
8 6 1,6 10C3 8 | 0,6 2 23 28 295 2 CPB 10 He BusisnieHo
8 7 0,6 10C3 8 | 04 4 16 30 110 2 CPB 20 He BussneHo
8 14 0,7 10C3+Knc 86 0,5 4 16 28 140 2 CPB 7 He BuasneHo
8 17 72 10C3 86 | 0,55 2 24 30 290 2 CPB i 7 He Bussneno
8 21 1,0 10C3 86 | 0,65 3 19 26 220 2 | CPB E 15 He BusBneHo
12 1 0,7 5C3(61)5C3(81) 61 | 0,45 3 14 18 115 2 CPB é’ 7 He Bussneno
12 5 0,6 10C3 91 0,4 3 20 30 140 2 CPB ;3 7 He BusBneHo
© 12 8 2,0 10C3 96 { 0,55 2 24 32 290 2 CPB E 7 He Buasneno
§ 12 11 2,0 10C3 86 | 0,55 2 24 30 280 2 CPB é 7 He BusiBneno
5 12 12 2,4 10C3 91 0,6 1 26 30 355 2 CPB g 5 He BusBnieHo
‘g 12 17 2,7 10C3 8 | 0,6 1 26 30 340 2 CPB E 10 He Busasnieno
% 12 20 0,7 7C3(53)3C3(73)+13 53 | 06 2 18 18 225 2 CPB E 15 He BusBnieno
= 13 4 1,2 10C3+/13 8 | 0,5 1 25 32 270 2 CPB ~§ 7 He BusBneno
13 6 2,0 10C3 91 0,6 1 27 32 370 2 CPB § 7 He Bugsneno
13 8 1,4 10C3+/13 91 ] 0,55 2 25 32 300 2 CPB E 10 He Bussneno
13 18 3,1 10C3 86 { 0,65 1 25 28 350 2 CPB § 17 He BusiBneno
13 21 L7 10C3+/13 8 | 0,5 1 25 36 270 2 CPB = 5 He BusineHo
13 24 1,8 7C3(62)3C3(82) 62 | 0,5 2 19 20 205 2 CPB 5 He BusiBneHo
13 25 4,6 10C3 86 | 0,65 1 26 32 375 2 CPB 7 He Bussneno
13 28 0,2 9C3(56)1C3(86) 56 | 0,45 2 16 18 155 2 CPB 20 He BussneHo
14 1 1,6 10C3+bpc 91 0,5 1 27 32 300 2 CPB He BussiieHo
14 6 0,8 7C3(62)3C3(82) 62 | 0,65 1 20 22 280" | 2 CPB He sussneno
14 20 5,8 10C3 83 | 0,65 1 26 30 370 2 CPB He Busizneno
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e 15 1 5,1 10C3 8 | 0,6 1 26 30 340 2 CPB ) 5 He Businesno
sg 15 4 0,7 10C3 8 | 0,6 3 18 26 210 2 CPB R 25 He Busisneno
7 § 15 5 1,8 7C3(82)3C3(62) 82 0,6 2 23 36 260 2 CPB é é 10 He Bussneno
’ § 15 7 1,3 10C3 86 | 0.6 1 26 30 340 2 CPB é ; 10 He BussReHo
‘;’g 15 9 42 10C3 86 | 0,65 1 28 30 410 2 CPB I 8 6 He Busisneno
% 15 11 0,8 10C3 86 0,5 3 20 26 180 2 CPB E l§‘ 7 He Busisneno
bl i5 12 0,5 10C3 8 | 0,6 1 25 28 330 2 CPB § g 6 He BusBneno
16 2 2,9 10C3+/13 81 0,6 1 26 28 345 2 CPB a 7 He Bussneno
Pazom no
Kounua-3acniBcokomy -y 68,9
Pazom no KII "JHIT
"Kouua-3acna" 121,2

Hupexrop KIT "JITIT" "Konua-3acna”
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